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100 Questions

Que. 1 Read the passage given below and then answer the given questions. Some words may be
highlighted for your attention. Read carefully.

A boy was waiting for the bus at the bus stop. He saw an old man who was just crossing the road. Suddenly a car
was coming towards him from the opposite side. Then he rushed towards the old man. His heart was beating fast.
He was scared that the old man will get hit by the car. But the old man didn’t move at all. The car hit the old man
but it didn’t stop. He was surprised to see that the old man was still moving. Then he saw blood dripping from
the old man’s leg. The boy was so sad to see the old man in this condition. He was helpless and so was the old
man. Then he thought of something and ran to the nearby shop. He came back with a bottle of water. He asked
the old man if he can let the old man drink some water.

Then, an idea suddenly came to his mind. He took his phone from his pocket and dialed a number. He was afraid
that the accident was caused because he did not cross the road. He was also afraid that someone will blame him
for this. However, he had no other option left. He had to help the old man. He called the ambulance and
explained the situation to the person who answered the phone. He asked them to inform the police and rescue
team that there was an old man lying on the road and a boy was standing there, frozen with fear. Then he asked
them to inform the old man that he should not be worried about anything and that the rescue team and the police
will come and help him. He also asked them to inform the old man that he will be there with him in the
ambulance. The police and rescue team came and took the old man away in the ambulance.

Which word is the most opposite in meaning to the word 'rescue’ used in the passage?
1. saving
2. liberate
3. recovery
4. abandon

5. None of the above
Correct Option - 4

Que. 2  Which word is the most similar in meaning to the word 'dripping' used in the passage?

1. sprinkle
2. leak
3. splash

4. both 1 and?2
5. All of the above
Correct Option - 2

Que. 3 where was the boy waiting ?

1. Railway Station
2. Bus Stop
3. Airport

4. None of the above
5. Data Inadequate
Correct Option - 2
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Que. 4 Why was the boy scared?

1.
2.
3.
4.
5.

Because he saw the car coming towards him
He was scared that the old man will get hit by the bike
he was scared because he saw the ghost
He was scared that the old man will get hit by the car.

None of the above

Correct Option - 4

Que. 5 What did the person who answered the call asked the boy ?

1.
2.

3.
4.
5.

He asked them to inform the old man that he will be there with him in the ambulance.

He asked them to inform the old man that he should not be worried about anything and that the rescue
team and the police will come and help him.

He asked them to inform the police and rescue team.
Both 1 and 2
All of the above

Correct Option - §

Que. 6 The question below contains five scattered segments of a sentence. Indicate the sequence which

correctly assembles the segments and completes the sentence.

A. supplies and

B. increased employment
C. World War I resulted

D. in the manufacturing of

E. munitions and other war

I.
2.
3.
4.

5.

CDEAB
DEABC
EDABC
BAEDC

None of the above

Correct Option - 1

Que.7 The question below contains five scattered segments of a sentence. Indicate the sequence which

correctly assembles the segments and completes the sentence.

A. malnourished of the world

B. undernourished and the

C. world food day is meant
D. to highlight the plight
E. of the hungry, the

1.
2.
3.
4.

ABDEC
CDEBA
DEABC
EDACB
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5. BEACD
Correct Option - 2

Que. 8 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. other throat disorders

B. the fresh juice of raw

C. papaya mixed with honey can
D. for diphtheria and

E. be applied over inflamed tonsils,

1. ABDEC
2. DEBCA
3. BCEDA
4. CAEBD
5. EADCB

Correct Option - 3

Que. 9 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. satisfaction may or may not

B. and the perceived expectancy
C. lead to high performance

D. depending on the perceived

E. availability of valued outcomes

1. BCAED
2. CDEAB
3. DEABC
4. ACDEB
5. EADBC

Correct Option - 4

Que. 10 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. galaxies of all types

B. which contains a thousand

C. the nearest cluster

D. rich in members

E. is the Virgo Cluster,
1. CDEBA
2. DBECA
3. ABECD
4. EBCDA
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5. BDEAC
Correct Option - 1

Que. 11 Direction: Pick out the part of the following sentence which has an error. If there is no error,
your answer is (4).

One of the state in which (A) / Satyagraha was offered was Rajkot (B) / where he spent his youth. (C)
1. C
2. A
3. B
4. No error
5. Not attempted

Correct Option - 2

Que. 12 Find the part of the given sentence that has an error in it. If there is no error, choose 'No error'.

Flying required a lot of (1)/energy, so bats need (2)/to consume nutritious food. (3)/No error (4)

1. Flying required a lot of
2.  energy, so bats need
3. to consume nutritious food.
4. No error
5. Not Attempted

Correct Option - 1

Que. 13 Directions: The following sentence has been split into five segments. Identify the segment that
contains a grammatical error.

If he has (A)/ not used the phone (B)/ while driving, (C)/ the police wouldn't (D)/ have fined him (E)/.

1. A
2. B
3. C
4. D
5. E

Correct Option - 1

Que. 14 Directions: The following sentence has been split into five segments. Identify the segment that
contains a grammatical error.

If you feel (A)/ you have any cause for (B)/ complaint at the (C)/ service you should write (D)/ to the Hospital
Administrator (E)/.

I. A
2. B
3. C
4. D
5. E

Correct Option - 3
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Que. 15 Directions: Read the sentence given below to find out if it contains an error. The error, if any, will
be in one part of the sentence. If the sentence is error-free, select No error or option 5. Ignore
errors of punctuation if any.

None of (A)/ the girls (B)/ have done (C)/ her home task.(D)/ No error. (E)

I. A
2. B
3. C
4. D
5. E

Correct Option - 3

Que. 16 Directions: Choose the word for the given options that could fit in the blank correctly.
Her told her it was unwise to argue.
1. Intention
2. Intuition
3. Aptitude
4. Attitude
5. Imagination

Correct Option - 2

Que. 17 Directions: Choose the word for the given options that could fit in the blank correctly.
The headache lasts from 15 minutes to four hours and may ~ several times in a day.
1. recur
2. occur
3. abhor
4. abdicate
5. abduct
Correct Option - 1
Que. 18 Directions: Choose the word for the given options that could fit in the blank correctly.
He wasn't a tall man, but he walked with the of one.
1. Sense
2. Wisdom
3. Confidence
4.  Action
5. Affect
Correct Option - 3

Que. 19 Directions: Choose the word for the given options that could fit in the blank correctly.
The freedoms they offer provide a new for all to improve.

1. Story
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2. Foundation
3. Incentive
4. Company
5. Reflect

Correct Option - 3

Que. 20 Directions: Choose the word for the given options that could fit in the blank correctly.
You'll get to meet all my members.

1. counsel

2. council

3. councillor
4. counsellor

5. consul

Correct Option - 2

Que. 21 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelled. Find the misspelled word.

The exsessive(A) obsession(B) over GDP growth by policymakers and politicians can be unhealthy(C) and
dangerous(D) in a democracy(E).

I. A
2. B
3. C
4. D
5. E

Correct Option - 1

Que. 22 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelt. Find the misspelt word.

Two recent pronouncemants,(A) one a judicial(B) order and another a public speech(C) by the Chief Justice of
India (CJI), have drawn attention(D) to the manner in which bail law operates(E) in the country.

I. A

2. B
3. C
4. D
5. E

Correct Option - 1

Que. 23 Find the misspelt word out of the given bold words in the sentence. If all are correct then choose

option 5.
The BJP inductad AGP leaders and appropriated many of their demands.
1. Inductad
2.  Leaders

3. Appropriated
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4. Demands
5. All are correct

Correct Option - 1

Que. 24 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelled. Find the misspelled word.

It provides a welcome opportunity(A) to spend a day in Paris to congratulate(B) Mr. Macron and impart(C)
new momentem(D) to the relationship(E).

I. A
2. B
3. C
4. D
5. E

Correct Option - 4

Que. 25 Directions: In the following questions, a sentence is given with five words marked as (A), (B),
(C), (D) and (E). These words may or may not be placed in their places. Four options with
different arrangements of these words are given. Mark the option with the correct arrangement as the
answer. If no change is required, mark 'No arrangement required’ as your answer.

A time(A) who lived table(B) always had gentleman(C) plates placed on the two(D) at dinner alone(E).
1. CEDBA
2. ABCDE
3. CDEAB
4. ACDBE
5. No rearrangement

Correct Option - 1

Que. 26 Direction: The question below is given three statements followed by two conclusions: I and II. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts. Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.

Statement:

Only a few caps are hats
All hats are masks
Some masks are covers
Conclusion:

I. Some masks are hats

II. No caps are covers is a possibility

1. Only II follows

2. Either I or II follows

3. Only I follows

4. Neither I nor II follows
5. Both I and II follow
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Correct Option - §

Que. 27 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:
Only a few Pen is Red.
Only a few Red is Blue.
No Blue is Black.
Conclusions
[.Some Pen can be Blue.
II.Some Red can be Black
1. BothI and II follow
2. Only I follows
3. Only II follows
4. Either I or II follows
5. None follows

Correct Option - 1

Que. 28 Directions: In the question below are given three statements followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.
Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.

Statements:
I. Some scales are glue
II. No glue is pencil
II1. Only a few pencils are eraser
Conclusions:
I. Some scales are eraser
II. No scales are eraser
1. Only conclusion I follows
2. Only conclusion II follows
3.  Either conclusion I or II follows
4. Neither conclusion I nor II follows
5. Both conclusion I and II follows

Correct Option - 3

Que. 29 Directions: In the question below are given two statements followed by two conclusions numbered I

and II. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:
Some fruit is Apple.


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Only a few Apple is Orange.
Conclusions:
I. No fruit is Orange.
II. Some fruit is not Apple.

1. Only I follow

2. Only II follow

3. BothIand II follows

4. Either I or II follows

5. Neither I Nor II follows
Correct Option - §

Que. 30 Direction: Study the given question carefully and answer the question.

Eight friends — Manoj, Mani, Mohan, Manu, Manju, Meena, Madhu and Mahesh are sitting in a row
and all of them are facing North. They are not necessarily seated in the same order.

Four people are sitting between Manju and Manu, but neither of them is sitting at any extreme ends of the row.
Two people are sitting between Manju and Mohan, who is sitting to the immediate right of Meena. Only one
person is sitting between Meena and Madhu, who is not sitting at any extreme ends of the row. Mani is sitting
exactly in the middle of Mohan and Manoj. Madhu is sitting second to the left of Mahesh.

Who is sitting at the extreme right end of the row?

1. Manu
2. Manoj
3. Madhu
4. Meena
5. Mahesh

Correct Option - 5

Que. 31 Who is sitting to the immediate left of Manju?

1. Mani
2. Manoj

3. Meena
4. Mohan
5. Mahesh

Correct Option - 2

Que. 32 Who is sitting second to the left of Mohan?

1. Meena
2. Madhu

3. Mahesh
4. Mani

5. Manoj

Correct Option - 4
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Que. 33 Who are the immediate neighbours of Manu?
1. Madhu and Mahesh
2. Mahesh and Mohan
3. Meena and Mohan
4. Mani and Mohan
5. None of the above
Correct Option - 1

Que. 34 Who is sitting exactly between Mani and Mohan?

1. Manju
2. Manoj

3. Meena

4. Manu

5.  Mahesh

Correct Option - 3

Que. 35 Directions: In the following question assuming the given statements to be True, find which of the
conclusions among given conclusions is/are definitely true and then give your answers accordingly.

Statements: P> Q>R =S; U<V <S
Conclusions:
ILP<U
I.P>U
1. Only Il is True
2. Only Iis True
3. BothIand II are True
4. Either I or Il is true
5. None is True

Correct Option - §

Que. 36 Direction: In the following question assuming the given statement to be true. Find which
conclusion(s) among the given conclusions is/are definitely true then give your answer accordingly.

Statement: P>Q>R <S; V>U<T>S
Conclusion:
I.LT>R
I.T<P
1. None is true
2. Only II is true
3. BothIand II are true
4.  OnlyIis true
5. Either I or II is true
Correct Option - 4
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Que. 37 Direction: In the following questions assuming the given statements to be true, find which of the
conclusion(s) among the given conclusions is/ are definitely true and then give your answers
accordingly.

Statements: R<L=N>P<Q>S=M
Conclusions:
L.LP=Q
ILP<Q
1.  Only Iis true
2. Only II is true
3. Either I or II is true
4. Neither I nor II is true
5. BothIand II are true
Correct Option - 3

Que. 38 Direction: In the following question assuming the given statements to be true, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statement: M>Q>R=F=T>U<V<D=G
Conclusion:
I.D>F
II. U<SR
1. None follows
2. Both conclusion I and II follow
3. Only conclusion II follows
4.  Only conclusion I follows
5. Either conclusion I or II follows

Correct Option - 3

Que. 39 Direction: In the given word "AUTHORISE" replace the consonants with the succeeding letter as per

the English alphabet series and vowel with their preceding letter as per the English alphabet series.
Then arrange the letters in reverse alphabetical order from right to left. Which of the following letter is third from
the left end after arrangement?

1. D
2. H
3. 1
4. N
5. S

Correct Option - 3

Que. 40 How many such pairs of letters are there in the word * CELLPHONES °, each of which has as many
letters between them in the word ( both forward and backward direction) as they have between them in
the English Alphabet ?

1. Two
2. Three
3. Four
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4. Five
5. More than Five
Correct Option - 4

Que. 41 Ifitis possible to make only one meaningful English word with the 1st, 2nd, 3rd, and 5Sth letters of the
word “TESTBOOK?”, which of the following will be the second letter of that word? If no such word
can be made give ‘X’ as the answer and if more than one such word can be made give ‘Y’ as the answer.

1. S

2. E
3. T
4. X
5. %

Correct Option - §

Que. 42 Directions: Study the following information carefully to answer the given questions:
REIWEBCSDOK2®T7TTFS5U£Z1%6A@X4QH&

In the above arrangement, which of the following is the seventeenth element to the right of a symbol which is
immediately followed by a digit and immediately preceded by an alphabet?

. @
2. Z
3.1
4. 5
5. £

Correct Option - 2

Que. 43 How many letters are there in the above arrangement which is/are immediately followed by a symbol
and immediately preceded by a digit?

1. Four
2. Three
3. Two
4. One
5. Zero

Correct Option - 2

Que. 44 How many symbols are there in the above arrangement which is/are immediately followed and
immediately preceded by a digit?

NS RN B Y]

1

2.

3.

4.
5.9

Correct Option - 4
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Que. 45
1. 4
2. 5
3. 6
4. 7
5. 8

Correct Option - 1

Que. 46 Direction: Read the following information carefully and answer the given questions

If all the people will go in alphabetical order then who will be the last one?

Eight people K, P, T, J, M, U, B, and F are going on a trip one after another. Two persons are going
between F and K. No one is going after P. K is going after B. T is going just before U. K is not going just before
P. The number of persons is going before B is same as the number of persons who are going after K. F is going

just after M.
1. B
2. ]
3. P
4. U
5. T

Correct Option - 4

If we drop all the symbols and letters from the above series, find the average of the digits that are at the
third and seventh place from the left end in the new series.

Que. 47 How many persons are going before K?

1.
2.
3.
4.
5.

One
Two
Three
More than three

No one

Correct Option - 4

Que. 48 How many persons are going between B and U?
1.
2.
3.
4.
5.

One
Two
Three
More than three
No one

Correct Option - 2

Que. 49 Find the odd one out.

1.
2.
3.

JK
MJ
FB
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4. TP
5. BU
Correct Option - §

Que. 50 Which of the following person/s are going after J?

1. B

2. K

3. BandK
4, JandF
5. M

Correct Option - 3

Que. 51 In each of the following number series, the wrong number is given, find out that number.
234,230, 221, 196, 147, 114

1. 221
2. 147
3. 114
4. 196
5. 230

Correct Option - 3

Que. 52 In each of the following number series, the wrong number is given, find out that number.
49, 56, 77,112, 151, 224

1. 224
2,77
3. 112
4. 151
5. 56

Correct Option - 4

Que. 53 In each of the following number series, a wrong number is given. Find out that number.
62, 98, 142, 194, 258, 322

1. 142
2. 322
3. 194
4. 98

5. 258

Correct Option - 5

Que. 54 What will come in the place of the question mark '?' in the following question?

4% (2+120)=(8)3 + 640 + 80 + 22
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1 12
2.
3.
4. 16
5. 11

Correct Option - 5

Que. 55  What will come in the place of the question mark '?" in the following question?

133 = 4912x 20 + 2 = 2250012 + 310

1 70
2. 60
3. 90
4. 55
5. 80

Correct Option - 5

Que. 56 What will come in the place of the question mark '?' in the following question?
50% of 170 + 60% of 180 + 110 =? + 10

1 293
2. 273
3. 313
4. 413
5. 253

Correct Option - 1

Que. 57 What will come in the place of the question mark ‘?’ in the following question?
1023 + 31+ 12500 + 5 - ?=75% of 2500

1. 658
2. 601
3. 500
4. 468
5. 397

Correct Option - 1

Que. 58 What should come in the place of '?" in the following question?
V729 x 6 + 15 x 50% of 450 - 366 + 3 =?

1. 2088
2. 3415
3. 3375
4. 2812
5. 3130
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Correct Option - 2

Que. 59 What will come in the place of the question mark ‘?” in the following question?

1.

5.

2
3.
4

(42 —13) x (35 — 2)of2 =2

1) [} ) [}
> NS «fs ol

Answer not known

Correct Option - 1

Que. 60 What value can come in place of the 'x' in the question below?

5.

1
2.
3.
4

142 +39+262 - \/z = /4096
256
196
216
324
184

Correct Option - 1

Que. 61 Abhishek got an amount of X 1580, he spent this amount on rent, petrol, and food in the ratio (1/5) :

5.

1

2.
3.
4

(1/3) : (1/8). Find the amount spent on food if he left with no money after spending.
%100
%200
X300
%400
%500

Correct Option - 3

Que. 62 Two trains having lengths of 90 m and 110 m are running on parallel track in the same direction with

smaller trains running at a speed of 45 km/h. The train, having a length of 110 m, crosses a man in the

smaller train in 18 s. Find the speed of the longer train.

1.
2.
3.
4.
5.

67 km/hour
72 km/hour
70 km/hour
66 km/hour
74 km/hour

Correct Option - 1

Que. 63 There are three people in a family, husband, wife, and their son. The husband's age is four times his

son's age and the wife is 9 years younger than her husband. What is the ratio of the ages of husband,
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wife, and son if the sum of their ages is 99 years?

I. 20:16:5
2. 12:9:3
3. 16:13:4
4, 16:11:4

5.  None of these
Correct Option - 3

Que. 64 A man sells a cycle on the marked price of cycle 50% above the cost price and allowed three
successive discounts of 20%, 10% and 5% respectively. If cycle made a profit of ¥ 52. Find at what
price man sold the cycle to make a profit of 25%?

1. %2600
2. %2300
3. %2500
4. %3000
5. %2900

Correct Option - 3

Que. 65 Time taken by A and B to complete a work is in the ratio 2 : 3. A alone worked for 5 days and left the
work then B alone worked for 10 days on the same work, It is found than 70% of the work is
completed. Find the time in which they together can complete the work.

1. 10 days

2. 15 days

3. 8days

4.  200/13 days
5. 12 days

Correct Option - 1

Que. 66 3 men can do a piece of work in 12 days, 5 women in 8 days and 20 children in 3 days. In how many
days can a man, a woman and a child working together complete the piece of work?

1. 12
2. 13
3. 19
4. 18

5.  None of these
Correct Option - §

Que. 67 The Compound interest earned on Rs. x in 3rd year is equal to the simple interest of 1 year on Rs.
33880. If the rate of compound interest is 10% per annum and the rate of simple interest is 25% per
annum. Find the value of Rs x which was given on Compound Interest.

1. Rs. 44000
2. Rs. 45000
3. Rs. 68000
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4. Rs. 70000
5. None of these
Correct Option - 4

Que. 68 A and B together invested Rs. 64000 for 4 years. A decreased the amount by Rs. 5000 each year and B
increased the amount by Rs. 4000 each year. If the ratio of their profits is 13 : 12, find the amount (in
Rs.) invested by A.

1. 50000
2. 60000
3. 45000
4. 55000
5. 40000

Correct Option - §

Que. 69 One container contains a mixture of spirit and water in the ratio 2 : 3 and another contains the mixture
in the ratio 3 : 2. How much quantity from the second should be mixed with 10 litres of the first so that
the resultant mixture has ratio of 4 : 5?

1. 2.86 litres
2. 3.45 litres
3. 4.31 litres
4. 5.67 litres
5. 8.94 litres
Correct Option - 1

Que. 70 In a class of 30 students, average marks obtained by them is 76. If the marks of two students were
misread as 78 and 52 instead of the actual marks 82 and 60 respectively. What would be the correct
average?

1. 65.6
2. 62.46
3. 725
4. 70

5. 764

Correct Option - 5

Que. 71 Directions: In the given Bar graph, the number of male and female participated in the voluntary work
for helping the poor affected due to the lockdown from three district Chamba, Shimla, Kullu and
Kangra in the month of April 2020.
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70

I

42

MNumber
&

30 B Male

[ Female

20

10

Chamba Shimla Kullu Kangra
Districts

What is the average number of male participants in the voluntary work from all four districts?

1. 50
2. 49
3. 48
4. 358
5. 68

Correct Option - 3

Que. 72 What is the ratio between the total number of male participants from Shimla and Kangra together and
the total number of female participants from Chamba and Kullu together?

1. 52:45
2. 45:52
3. 45:49
4. 49:45
5. 53:45

Correct Option - 1

Que. 73 Find the difference between the district having the maximum participation and the district having the
minimum participation.

1. 32
2. 34
3. 44
4. 54
5. 64

Correct Option - 2

Que. 74 By what approximate percentage is the total number of female participants from district Chamba and
Shimla together is more or less than the total number of male participants from district Kangra and
Kullu together?
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1. 22%
2. 20%
3. 25%
4. 18%
5. 17%

Correct Option - 2

Que. 75 By what approximate percentage is the number of female voluntary from district Kangra is less than
the male voluntary from Shimla?

1. 53.34%
2. 55.34%
3. 56.34%
4. 57.34%
5. 58.33%

Correct Option - §

Que. 76  The shortest day among all the planets in the solar system is on?

1. Jupiter
2. Saturn

3.  Mercury
4. Neptune

5. None of The above
Correct Option - 1

Que. 77 The longest river of Indian peninsula is

1. Kaveri
2. Narmada
3.  Godavari
4. Kirishna

5. None of the above
Correct Option - 3

Que. 78 Megasthenes, a Greek ambassador visited the court of
1. Ashoka
2. Samudragupta
3. Skandgupta
4. Chandragupta Maurya
5. None of the above
Correct Option - 4

Que. 79 The Delhi Sultan who transferred the capital from Delhi to Daulatabad (Devagiri) was
1. Qutbuddin Aibak
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2. Iltutmish
3. Muhammad-bin Tughlaq
4.  Firoz shah Tughlaq

5. None of the above

Correct Option - 3

Que. 80 In which year SAARC was formed?

1. 1970
2. 1975
3. 1985
4. 1990

5. None of the above

Correct Option - 3

Que. 81 Aizawl is the capital of which Indian state?
1. Manipur
2. Tripura
3.  Mizoram
4.  Arunachal Pradesh
5. None of the above
Correct Option - 3

Que. 82 Kanha National Park is located in which of the following states?
1. Gujarat
2. Uttar Pradesh
3. Madhya Pradesh
4. Rajasthan
5. Assam

Correct Option - 3

Que. 83 Bronze is mainly made of which metal?

1. Zinc
2. Copper
3. Cobalt
4. Tron

5. None of these
Correct Option - 2

Que. 84 Who among the following publishes the Economic Survey of India?
1. Institute of finance

2. National Development Council
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3.
4.
5.

Indian Statistical Institute
Ministry of Finance

None of the above

Correct Option - 4

Que. 85 ‘Light year’ is a unit of measurement for which of the following?

1.
2.
3.
4.
5.

[llumination
Time
Total solar energy incident on the earth in a year
Distance
None of the above

Correct Option - 4

Que. 86 Which of the following was a port city of the Indus Valley Civilization?

1.
2.
3.
4.
5.

Rakhigarhi
Dholavira
Kalibangan
Lothal

None of the above

Correct Option - 4

Que. 87 What is the full form of CNG?

1.
2.
3.
4.
5.

Carbon natural gas
Compressed natural gas
Composed natural gas
Carbon Nitrogen Gas

None of the above

Correct Option - 2

Que. 88 Which of the following is an example of an Artificial magnet?

1.
2.
3.
4.
5.

A bar magnet
Horse - shoe magnet
Cylindrical magnet
Electromagnet
All of the above

Correct Option - §

Que. 89 Which country held the third position in the FIFA World Cup held in 2022

1.
2.
3.

France
Croatia

Portugal
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4. Argentina
5.  Morocco

Correct Option - 2

Que. 90 Who is Science and Technology Minister of India?
1. Harsh Vardhan
2. Dr Jitendra Singh
3. Kiran Bedi
4.  Smriti Irani
5. None of the above
Correct Option - 2

Que. 91 The national pension scheme (NPS) is administered and regulated by?

1. NABARD
2. IRDAI

3. CRA

4. RBI

5. PFRDA

Correct Option - §

Que. 92 After Independence, which leader helped in unification of States earning him the title of [ron Man of
India?

1. Jawaharlal Nehru
2. Sardar Vallabhbhai Patel
3. Rabindranath Tagore
4. Bal Gangadhar Tilak
5. None of these
Correct Option - 2

Que. 93 The oldest oil refinery in India Digboi was established when

1. 1911
2. 1937
3. 1879
4. 1925
5. 1901

Correct Option - §

Que. 94 What is the new name of ‘Pradhan Mantri Kaushal Ko Kaam Karyakram (PMKKK)’?
1. Pradhan Mantri Virat Ka Samvardhan
2. Pradhan Mantri Virasat Ka Samrthan
3. Pradhan Mantri Virasat Ka Samvardhan
4. Pradhan Mantri Kaushal Ka Samvardhan
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5.

None of above

Correct Option - 3

Que. 95 Which of these are not required during the Photosynthesis process

1.
2.
3.
4.
5.

Cholorophyll
Oxygen
Carbon Dioxide
Water
All of the above

Correct Option - 2

Que. 96  7th Edition of the India Water Impact Summit held at

1.
2.
3.
4.
5.

New Delhi
Dehradoon
Varanasi

Kanpur
Nashik

Correct Option - 1

Que. 97 What is the annual premium of Pradhan Mantri Suraksha Bima Yojana (PMSBY) ?

1.
2.
3.
4.
5.

35
200
49
40
20

Correct Option - 5

Que. 98  Which country ranks top in the Henley passport Index 20227

1.
2.
3,
4,
5.

Finland
India
Afghanistan
Japan
USA

Correct Option - 4

Que. 99 What is Make in India 2.0 main motive?

1.

A

Build Artificial Intelligence
Decrease Imports
Raise in service sector growth
Raise in manufacturing sector growth

None of the above
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Correct Option - 4

Que. 100 What do the first four digit of the IFSC code represent?
1. Branch name
2. Bank's name
3. Bank's GST
4. Bank's code
5. Bank's head office name
Correct Option - 2
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